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1.5 : Solution Sets of Linear Systems

Topics

Section 1.5 : Solution Sets of Linear Systems )

2
Chapter 1 : Linear Equations

Math 1554 Linear Algebra

Obj
For the topics covered in this section, students are expected to be able to

We will cover these topics in this section.

Homogeneous systems
Parametric vector forms of solutions to linear systems

do the following.

1
v

Section 15 Slide 42 Section 15

Express the solution set of a linear system in parametric vector form.
Provide a geometric interpretation to the solution set of a linear
system.

Ch ize h linear systems using the of free
variables, span, pivots, linear combinations, and echelon forms.
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